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2. x7b-1Ht -3 7F 22 A5olth x, —x, -3 9 Ha BAE
HE2 7] B A2

DO x<-x<-3 @ -3<x<-x ® x<-3<-x
@ —-x<-3<x @—3<—x<x

-1HG 3T A2 FE=-1-(-3)=2°th. Fx=2, —x=
-2, O]E& -3 < —x<x O}
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7. The Al wped) g 2L

@ (+36) = (+9) = —4 @ (-30) = (-5) = -6
@) (+18)+ (-3) = - @ (-24)  (+6) = 4
®0+(+7)=7







@® (-0.1)? < 0.1 @ (-1)% < (=2)%
® (-0.4)3 > (-0.4)? @102 < 10?

@ 0.01 = 0.01
@ -1 > -29

® -0.064 < 0.16
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13. ol el A {5 & ok & wof ol ;& Wi
gAY 0.25 7F Uk vr2 A AARSE A9
©-; o0-7 O0-p @5 o©-z
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1 3 1
61—E4r3—0.25_Z
IR NR L

60 60 60

15 5 36 16 4

~% 60 60 60 15

= 4 1 3 -16 4+ 5 - 36 47
Hp = At A= 2 4 - 2 _TDTO7O
FEA A 2 51275 60 60

a




14. o3 Ao [ Rl Bl r gk A2

%+(D+4+15)x3:g

2 3 3
®E ®E ®E @

~&B




o2 218 WEst= vl B4 a, b, ¢, dol ot a+b+c+d 9
a9
Z7A
1
@ axb=-5 ©b+c:—§
© |bl = ld| @ a<c<d<b
@7 @-2 o0 @ 3 ® 5
@ axb=-5 A
a=-5,b=1%=a=5b=-1
TE=u=1,b=-5%=ag=-1,b=5
1
©b+C=—§ of| A
b=-1,c=2FEb=1,c=-2
TE=Ep=-5c=10E=b=5 c=-10
© [b| = |d| o114

b=-1,d=1FE=b=1,d=-1
TE=b=-5d=5F=b=5d=-5
@a<c<d<bo|A
a=-5b=1, c=-2, d=—1°|t}.
w2t a + b+ ¢ +d = -7 °|t}.




